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SOLVING LINEAR SYSTEMS Use the substitution method to solve the
linear system.

@yv=x-4 *0 15,214 19.2c —d = -2
4:+\=2652— 2A+5=19 de +d =20

@) 2a=3 az4 @7r+3\—3|)¢"’7’ 2.p+g=4
a+b=2 y=2=-7 y=x+17 :5’-‘0\ 4p+g=1

®,r—2)'=—25)(:5 24,y —v=10 @x—_\'=0 )(:_3
3x=y=0 5:\5' Tu+v=20 12x = S5y = =21 3:-3

@ ERROR ANALYSIS You are helping a friend with tonight’s math homework.
Answer your friend’s questions.

3 +y =9 ™ Equation 1 3+ (-3x+9 =9
— - - it
2x+y =4 Equation 2 -3 +9 =9
x+y=9
9=9
y=-3x+9 Iﬂ
What does this mean?

How do | find the answer?




